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SOPB 
Dwidth 

# LUT = K MOPB 
dwidth 

# 4-input 
LUT 

# 
przerzutników 

# 
BRAM 

8 1 8 102 33 1 

16 1 16 186 61 1 

16 2 16 125 33 1 

32 2 32 249 62 1 

32 4 32 163 38 2 
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�������	���!	�������	��

������������	
��

�

�����
�
�

-.� -�� .� -�

.�

�����

�����

��������

�����-��
����/���

.�



&'( ������	)	
��*	
	��
����	+�	��

��������	�����	�����	
	�����	�,	-�.*	�����	��	�	������	������	��	�����	
�(�	�������	0

�����	�����	������/00		���	�������	
�	�
�
	�	�
�����	����
�	������	opb_sram), 
���	�
���
��	
�	�
�
	��	������	opb_lut. ���
��	
��		���		�
���	�����	opb_dma z trzema magi-
stralami:

�� ���� !	"	�
#����
�
	� !	�����#	�
��
�	"	����
�
�$��	�
�
	�	�
�����	�
�����D%
&D  H1,-;	V	����	
����	,-;		�����	 �	
��	V	�$	$F��;�$	����	��	�������	C��
��������D%
'D 21,-;	 V	����	
����	,-;	 	�����	2��S�	 V	 	F�(;�$	��	)��*��������	����F�L	�������
����	�	G�+�F�,	�������������	����	����)�-��	
���	*���.

 ���F	 
��	��(�	 �+������-���	��*����>	 �	����	$��>	����,	�����	��		�$*)�->	����$
��F���		$	
���	����F�	����$��������	���$	���	�����.

/��
�	�	
$�	����	��	���)��-��>,	(� ���$(	�$		$	
��	*�����	���	
�	�$����	��	����
����
)��$�0	����F+�	 
�)��0,	 ��)	����F	)��
����$	���	����F�	opb_dma,	����F	����	�
���$�0	�	)����$	wideo, odczytu przetworzonego obrazu itd.

/$��)�	��������
����	�	�)F�����	B-12		�0���
�	�����	
��������	��	rysunku 3 dla
SOPB_Width=16, K=2, MOPB_Width=16	 �����	
����	 
�*���	 &.	 �)	$�����	 ���	
�
��*
��->	 ����$	 ��	
�F�	 �����������	 �����	 ����)�->	 ����$
�	 �	 �������	 �����
�����	 2J2 
�	�$��	�F�	34	 5�.

'	,��	�"

������	��
��������
�	
�����"�	�������	�����������
�	678
�	��	�����	9�34	M
�����5:	P�5�677��
X57R�;	�	
	����	QMN	�����	Q���

3 �4��
���������������	
���%&'

<��	
�
����->	����$	�)F��+�	B-12	��	
	�����	E44	 5�,	���
���	�	����	���$	���	��*
���	�$)��$�����	��������	=89	)��������	��	
	��+�����������	�����$
��.	=����	�	��
��
��+�����������	��	
�F�	��(	����������
�����	�		��$�	������	opb_lut, �Y)
+�$�	��(��*
��	��	
	�$)��$�����	�����	��������	=89	�+������-���.	<��	
�
$		����)�->	����	
����	��*
�$�0	���$	��	
����	��	�������	�����
�����	��	
	�����������,	
�)(�	
��		��	+*	���$	���	��*
���	�$)��$�����	 ��������	 =89	 ��	
	 ����$	
������;�$.	-�	 ������	 ���	��	 ��+�����������
�����$
��	�	�����$		��	+*	��������F�*$,	(�	���		�������������	C����	�D	�������	=89
*$F*$	���)	�$	��(	���		�$)��$�����		���� operacji LUT.

2�
����
$��$�	�����;������	��	
	��+�����������	��F���		$	
���	��������	��	rysun-
ku 3, czyli  zastosowanie N	����F+�	opb_lut, opb_dma, opb_sram. J����;�����	 
�	 ��	


 16×1 LUT Przerzutniki BRAM 

opb_lut 125 33 1 

opb_dma 198 66 0 

opb_sram 67 74 0 

opb_epp 309 119 0 

��0��� 716 242 1 



I�������
����	�	�)F����0	B-12		�����	��+�����������	��������... 3>�

�����)	���	��	���$�����,	�������(	 ����*�	����F+�	�������	�����
�����	 ��	
	�����������
������-����	��	��+�0.

-���������$�	�����;������	��	
	��	
�	������	
���		�����	��
��*���K�	�������	��*
���
�����	��	�*��������	�����	��������	=89	�+������-���,	��	
	
�	��(����	��	�������	��
���-�����	��)F������		��	�*����	G�+�F�����	���	�����	�������(�$�0	��������	=89.	/	)��*
	�)������,	�*$	����)�����>	�+��������	N	�������(�$�0		;	�����;�$�0	��		�*;	��*�	�	��*
������,	��*�	�	������	*������
+�	�*����	W×W,	�$	
����$	��	
����$>	����
)���	W⋅(N–1)
pikseli. Ilustruje to rysunek 4 (1D).

()� �1 	?��	������	���	
������"�����#	�������	��
�������#	
��������	�������"	��#@
	:A	;	�����	�	
�������/	5A	;	�Y
�������	�	�	
�����

W celu przekodowania N oddzielnych s������
����#	��	����	���"������	������	W×W
konieczne jest wykonanie P	����	F�?	��)	���	G�+�F��$�0

P = W×(W+N–1) (1)

<��	
�
$	���	�	�$	
)��	����F$	=89	���;	�������>	�+������-���	C���	�	�$	
)��	��)*
	���		;	��(��	���	������	����F�D,	���
���	-������	�$)���$	
�nie R	)�(����	����F�	=89
�$��	�

1

W W W
R

P W N

⋅= =
+ −

(2)

2�������;�	���$(	��	�+������	��(��	�����($>,	(�	������)	�$	����	
	������	
���*
-��	(N⋅R)	�	�;��		��	���	�������)��0	N. H��	��F$�0	N, -������	�$)���$	
����	����F+�	=89
��	
	*��	)��	�����	�	���
���	��+�����������	��	
	��F������.	H��	N = W,	-������	�$)���$	
����
��	�����+��$�0	����F+�	R �$��	�	�)�F�	½	�	���
���	�	���)
$��	�+��;		��	���;	������;
��	
	N = W. W konsekwencji dla W = 20		��	���$	�$����		��	�$*+�	N = 8 (N⋅R = 5,92) lub
N = 16 (N⋅R = 9,14).

Zgodnie z r+�������	C&D	-������	�$)���$	
����	����F�	=89		�$*)�	������	��	����*
	
��	����*$	�����	
�)	�+������F$�0	N.	H��
���	���$	��($�	N	*�������	��F������	��	
	�$)�*
��$	
����	��)F������		��		;	������0	��)	���	���+���	�	������,	��)	�	�	��������.	/	��+����
	$
�����	��(��	��	
�	���>	N jednostek w poziomie i M �	������.	/	)��	�)������	����*�

���
�� � ��
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==7 :�����	<����/	B��������	�����

���������#	�������"	��#	����	��	678	������	N×M.	H��	
�)����	�����;�����	����*�	��*

���*�$�0	��)	���	G�+�F��$�0	C����	F�?D	P wynosi

P2 = (W+N–1)×(W+M–1) (3)

Z������	�$)���$	
����	��	��zególnych jednostek LUT wynosi

2

2 ( 1) ( 1)

W
R

W N W M
=

+ − ⋅ + −
(4)

-��+������	-��������	�$)���$	
����	�����	
�)	�+������F$�0	R i R2	���	�+(�$�0	��*

��	��+�����������L	EH	�	&H	�	
��		����	����*$	�����	
�)	�+������F$�0	��	
�F�	�����	
����*
��	��	rysunku 5.	/$��)�	�	�����,	(�	���	M = 4,	��$��	���	EC	�+��������	������;�$�0	�����*
	
�),	-������	�$)���$	
����	����F+�	=89	���	��+�����������	EH	�$��	�L	4,3W,	��
����	

���	��+�����������	&H	�$��	�	4,WC.	/	)��	�)������	���	���)	���	����$	�����	
�)	�+���*
���F$�0	*�������	��
$����$�	�����;������	��	
	��+�����������	���+���	�	��������,	��)
�	�	������.	/��
�	�	
$�	����	��	���)��-��>,	(�	���$	��F$�	N 	��	����	��	
	��	
�	������

$�)�	��+�����������	EH	�	��������,	��	�������	��	
�,	(�	����$
		�)����$��$	C��	
����;*
�$�0	��		�*��	��)	���D	��	
		�$*	�$	��	����$
�	�$*�+������	C��	��	
�����	�����D.

()� �3 �D������	�������������	�	�	����$�����	��	������	
��������	�������"	��#@
:A<	�	[	�5

/	5A<	�	[	�

2�0���
	 *��)��$	 ��F���	 	$	
���	 ��)����;����	 N×M �+������F$�0	 �������(�$�0

���	*�������	=89	��	
�F	�����	
�����$	��	rysunku 6.	 ���F	opb_lut ��	
�F	
�
��	��	
;���*
�$	N×M �+������F$��	����F���	=89.	<���($	�	
$�	����	��	���)��-��>,	(�	)�(�$	�	��*
��F+�	=89	��(�	�$)��$��>	K	)�����	��	=89	�+��������,	����*���	��)	
�	���F�	����	��
���	����F�	opb_lut. =��$�;	�+(���;	��	
	
�,	(�	�	�$	
)��	����F$	�	�+F�����;	�����$���$
����F	��
��*���	����	
����	,-;L	opb_slave.
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�
��	= �$	�����
	���	���
#���
�	��
�
���''' &&�

()� �5 	M�#����	�������	�������	
����
���"�	�	>?\�<;�������"	���	����	���	�������
�	678

5 �!��)
�
�	��������	��
	��	��	��$
��%&'

-�����		 �����(����	 *��)��������-��	 ��F���	 �����;�����	����($	 �+����(	���;>	���
�����			���		T potrzebny na zaprogramowani�	�������	=89.	<��		
��	����($	��		����)�*
-��	 b C�	*�
��0D	�����	���-������	����	��	����*$	K	�������	=89	�������;�$�0		��	�	��*
���$���$�	������	=89.	H��	K = 1 wynosi on T = 2b taktów zegara, dla K ≥ 2 wynosi on
T = 2b–1	 
�)
+�	������.	/	)��	�)������	����)	�����	K	���$(��	&	������	��	 
$�)�	���	
�$)��$�����	��������	=89,	��
����	
	���	������	��	���	�	�������������	=89.	-�����	
����$
�	C�$)��$�����	��������	=89D,	)�(��	�����>	;J2 	��(�	�������>	�������(���.
/	���$���)�	����	�	���	��	
	
�	��(����	V	)�(��	�����>	��	�	�������>	
�		���	����.	8($
�
�������	=89		;	����������	&*���
��$��,	���
���	���	��	��+�����������	����	�	���	 ��	

��(����	��	�������	��	
�,	(�	���	K > 2	�($��		��	��+�0	��*	������	�������(�$�0	�������
&*���
��$�0	;J2 .	<�	
���$�	�������������,	)
+��	���	*�����	����	����	�	
$�	��
$)�*
��,	
�	
�����->	�	�*���������	�����	�����
�-��	�������	=89.

/	)��	�)������	��F)���
�	-������	�$)���$	
����	����F+�	=89	������		�$)��$��*
���	��������	=89	��	�������������	���	�	�������������	�$��	�

2

2
( 1) ( 1)

(2, )

T b
W

R
K

W N W M
MIN K

=
⋅ + + − ⋅ + −

(5)

Dla W = 20, N = M = 1, K ≤ 2 oraz b = 8 C&3C	�������		����-��D	RT = 0,61,	��$��	���	
�������������	�������	=89	����$�������	��F$��	��	�*�)
$���->	�*���������;	��F���

��

1���������
�

���������

����	
��� ��� �
�
�����

�����

��������

��������
��������
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��
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��
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&&� ������		
���
	�
�������	��
��

��������	�����������	K ��	 �	 ��������
	 ��	 ������
	�
��� ��	�����
!���" MIN(2, K) –
zwraca 2 i konsekwentnie dla tych samych parametrów RT = 0,44�	#!
��$�	�
!��
�
	�
�%
�� &	��	K = 2�	'�	������
	�	����
���	�����	����	��	���!���
	�
!���	��������
&	!���(�	��%
����)�	��
�� ��	��	���	b =7
	��	����
��	��������� &	
!$�������	*
!���	�
��
���&
	��	�!

b < 8 lu(	�	]	&+	����	��(���	M i N	���	�$	�*�)
	��(�	��	
�>	�	�;����
$	�������	����)	��*
���	K	��(	�������	���	��	����)	�����		
�����	��+�����������	M i N.	/	)�(�$�	���$���*
)�	 ����($	 ���;>	 ���	 �����	 ���	��	 -������	 �$)���$	
����	 RT	����F�	 =,-	 �$��(���
�	�+������	C.D.

6 ��������
	���

/�������	=,-	��(��	����������
���>	�	����
$����	���	
$		��	+*	�	�)F����0	���*
���������$�0	B123	�	�������	���	��������	��	�*+�	�)F���	B123.	/	�����	�$�	���$*
*��(����	�������	���	 
$�)�	�����>	*��)��;	4J35,	)��	�)���
���	 V	 ����*�	 �+��������
������;�$�0	�����	
�)	��	
	�	����F$	�����������	�F�-���	�����	����*�	��	
���$�0	�������
4J35.

1����>	 4J35	 ��	
	 &*���
���	 �	 ���
���	 ��������	 ��	
	 �$)���$	
����	 �+��������
��+�0	���
+�	
��	�������	CK = 2), co skutkuje pierwszym zrównolegleniem algorytmu na
poziomi�		�����	����F�	=,-.	F���)	�����	�+������F�-��	��	��������	����F�	=,-	CKD
��	
	�����)	����)�	��������,	��	�������	��		���)	�$	��F$�	���	�	�������������	C����	�D
�������	=,-.

<�	
���$�	 �
����	 ���$	���	�����	 �*�����?	 ��	
	�$)��$�����	 �+��������	 
���	*��*
�����	=,-	���	�����	��������$�0		;	�����;�$�0	��		�*;	*������
+�	�*����	G�+�F�����.
/$)���$	
���		��	�	 
$�	����	 *�)
,	(�	�*���$	G�+�F���		;	������0	 *������
+�	��)F����;
	��,	����)�	 
���	�����$���$	 ��
��*���	�	�������;	�����
���;	��(�	*$>	�$)���$	
$���$
�+������-���	�����	�����	����F+�	�+������F$�0.	<��	
�
$	����	��	����	
��	����*$	���*
��	
�)	�+������F$�0	���->	�	�+���	�*����	G�+�F�����	������,	��	�	��($�		
�����	��F$*
��	��	�*�)
$���->	�$)���$	
����	�����	
�)	�+������F$�0.	/	)��	�)������	���������*
��,	 (�	 ���	 ��(���	 	
�����	 ��+�����������,	 ���	�$�	 �����;������	 ��	
	 ��+�����������
�����$
��	���+���	�	��������,	��)	�	�	������.	/	�����
����	���->	�	�+���	�*����	G�+�F�*
����	��	
	���)	��,	��	��������	�$)���$	
����	�����	
�)	�+������F$�0.	H��	M×N = 64	���*
��	
�)	�+������F$�0	�	�+F��$���)	�$)���$	
����	��	�����+��$�0	�����	
�)	��	
	���)	�$
��(	 +,..	 1��	������;�L	��(����	 ��	
	 �*�)
$���	 ��+�����������	�$)��$�����	 ��������
=,-	6H	C�×M×	D	 �����	E&7	���$	-������	�$)���$	
����	��	�����+��$�0	 �����	
�)	R2
���$(��	+,..

��
���
���

89: 3�������	;!/	�����	�!@	�
�
���	�
���	 ������
���	4��������������/	9<R=
85: �����	B!@	!��"
��#����	����#�$�	����%��
&�$��'�"	��������($	���&)��$'�"	��	$��)�����	��&��

�$��&��
�	 ����&($	$	 �'���
��"	$
&'%�'�"	 �&���	 �&��&'$
�����!	B�����/	�����������	43>
9<<R
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��������
�	�	��@����#	A�34	������	��������"����
	�
����
�!!! ==6

86: >����	 4!/	 ;�����/	 M#�����	 N���
�/	 8����	 B�����@	 ������	 ���$��#�*����	 ����	 ������
��!
?���	8�����������	��	�������	4�������	���	���#���	?������"����/	B��!	57/	?�!	9/	<������	9<<R/	56C
6R

8*: <����	:!/	�����	B!@	+�������������	+���$����,�-�$���	 �����'�
��	,'���
	 -��	 .�����������
� /!������	���
���!	����!	��	 ?A4 	�����#�
	��	���"��������	A�B����	 ���	 M������	�AM/
B�����/	?�B!	9RC9<	577*/	9RUC9<9



==* :�����	<����/	B��������	�����


